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I 7451 — (2001 ,21 + 31,08) = 7451-2032.29=5418,71 I

93,4 x 8,37 =781,758

6,16 - 0,32 =19,25
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4200%15%= 630 / 4200-630= 3570
95x25%-= 23.75 [ 95-23.75=71.25%x3=213.75
3570+213.75=3783.75 / 5000-3783.75= 1216.2
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S=rxrxm=2.5x2.5xn= 19.625 cm’ (2)
19.625x23—= 13.083 cm? (c2)
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S=LxI=15.10x11.70=176.67 m* / 176.67x3200=565 344 dhs
S=Lx|=3x2.75=8.25 m?>/ 8.25 +2= 4.125 m?
S=Lx|=rxrxm=3.5x3.5x3.14= 38.465 m?>
176.67-(8.25+38.465)=129.955 m”>

15.2ha17.3ca= 1520.173 a

1.9km 177 dm = 1917.7 m

9021 cm® = 9.021 I

51.4t79.3q = 59330 kg
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S= rx2x3.14x8= 2x2x3.14x8= 100.48 m>
V= hx3.14xr2= 8 x3.14x4=  100.48 m®
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